Math 4541
Palekar

Fractals: Perimeter & Area
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1. To generate the Sierpinski Carpet: Take a square with area A. Divide it into 9 equal-sized squares. Remove the middle one.

Then take the remaining 8 squares. Divide each one into 9 equal squares. Remove the middle one from each group of 9.
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2. Consider y=3.5x(1-x). Take a value of x=0.2and follow the procedure discussed in class.

Be sure to round off each calculation to three decimal places before doing the next calculation.
Fill-in table below. The possible attractor(s) are (7, §27 /. 50/, O, §75 L L.383
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Multiple Choice. Show ALL work to receive credit. Formulas are listed below.
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¢ 3 The figure shows the pattern on a

birthday cake. The pattern has an
outermost square of three sides with a
length of 35 cm. The length of the side
of each subsequent smaller square 1s
80% of that of the previous one. What is
the maximum length of the pattern on

the cake?
A. 175cm 3(35)
B. 2l0cm 1(23) \
C. 350 cm y(n-t)
@ 385 em )__(f.j.g;;)
; 2( H3%)
joa: a| ) (;Q?)
: 2 ( . 443
2 (51750
= 35 s
|- .90 3l b
. 38
A
= 175 X2 = 350
1 35
NS



